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KBIT=TH 134 Tz 76 1537 Hh THET DX A T
BIT=TH 13%H5 TR TR 153%: M THE X5 1 H
KBIT=TH 1316 Tz 76 153%Hh THE X 6 [
BIT=TH 13%&H7 T TR 153%: M TAE X7 1
KBIT=TH 13 H18 Tz 76 1607 Hh THET X S
BIT=TH 13%H#9 T TR 160% M1 THE X O] H
IKBHT=TH 13%H#110 W S8R 1607 THIX 1O HE
BIT=TH 13%#11 T TR 160 H1 T XL 1
IKBHT=TH 137112 W T8 153% THTIX 1 21 b
BIT=TH 13%4H#113 VR TFHTR 153%: M T X 1 31 i
IKBHT=TH 13714 W T8 153% THIX 14 b
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IKBHT=TH 13%H115 W T80 153% THIX 15 Hh

BAT=TH 13%H116 VR TFHTR 153%: M T X 16 1

IKBHT=TH 147 H1 W T8 160% i 127 X1 it

KBHET=TH 1574 R BT R WA 615 TR FHE 517 TR BT R FAE6 175
S<BIT=TH 157 Hh EHTERORE B E 625 TR TR 517 TR ORE BYE 625
KBHAT=TH 1574 TR BT R B £ 6375 TR FHE 517 TR BT R FL A £ 637
S<BIT=TH 157 Hh ERTERORE B E 645 TR TR 517 H TR R BYE 645
KBHET=TH 1574 TR BT R B £ 6575 TR FHE 517 TR BT R FL A £ 657
S<BIT=TH 157 Hh H AT R B E 665 TR TR 517 H AT R BYE 665
SKBHET=TH 1574 TR BT R B 6775 TR FHE 517 TR BT R FAE6 775
EHIT=TH 15 HEHERORE R EA— 1S | ER T 515 RSO Y EEA— 15
S<BIT=TH 157 T AT R B EEA— 25 W T 513 T AT R B EEA— 25
BIT=TH 15%Hh R BT R B EEA — 35 TR 51%Hh TR BT R Y LA — 3%
KBHT=TH 157 TR R E A TA—45 TEWTFHTE 5171 TR FTERORE A TA—45
SBIT=TH 16%Hh TR BT R Y7155 TR TR 51%Hh T TR R Y715
S<BIT=TH 1675 T AT R B 720 W T 517 TR AR Y725
BIT=TH 16%Hh TR BT R B 735 TR TR 51%Hh TR BT R YL 735
KBIT=TH 1675 TR BT R FAE T 745 W T 513 TR AR Y7405
BIT=TH 16% TR BT R Y7557 TR 51%Hh TR BT R YL 755
KBIT=TH 1675 HE BT R E FAE 7675 W T 513 TR BT R FA T 7675
BIT=TH 16%Hh TR B R L7 7 R A 51%Hh T B R Y775
BAT=TH 167 TR BT R B EB — 1% WA 517 TE BT R B EB— 15
EBIT =T H 165 H MEFEN HEREER 25 [T 515 T HE I R A EB — 25
HIT=TH 167 TR BT R B EB — 3% WA 517 TE BT R B EB — 3%
EBET =T H 165 H MEFE HEREER—45  [JER TR 515 T HHE I R B EB — 45
HIT=TH 177 TR BT R B EE— 175 W8 167 & TE B R B EE— 175
EBET =T H 175 H MEFE REREEE—25  [JER TR 1677 H T HE N R R EE 25
HIT=TH 177 TR BT R B EE — 3% WA 167 & T E B R B EE— 3%
EBIT =T H 175 H MEFEN REREEE—45  [JERTHR 1677 H T HE N R R EE— 45
S<BIT=TH 177 H B BT A B EF — 1 W T8 167 B BT R B EF — 15
SBIT=TH 175 H TR BTN R U EEF — 25 VI FHA 1677 H TR I R B EF — 25
S<HIT=TH 177 H B BT R B EF — 3% W S8R 167 B BT R B EF — 3%
SBIT=ETH 177 TR T R B B — 455 T TR 1675 H BB R B EF — 45
S<BIT=TH 177 H B BT A B EF — 5% W S8R 167 B BT R B EF — 5%
S<BAT=TH 18%#h TR BT A B8 1% T TR 1675 H T BT R Y8155
S<HIT=TH 187 Hh R T I R B E 8 2 W S8R 167 B T R B8 2
S<BAT=TH 18%#h TR BT A B L 835 T TR 1675 H T BT R YL £ 835
S<BIT=TH 187 Hh T E T R B84 W T8 16 7% T E TR R £ 84 5
BIT=TH 18%#h R BT R B 8545 VR TFHTR 1675 H TR BT R B E 855
EHIT=TH 187t TR BT R UL E86 5 T ST TR 1673 i TR BT A UL E86 %5
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EHIT=TH 18 % TR BT R B EE87 5 T ST R 1673 i TR BT A UL E8 7 5
KBHT=TH 18 TR BT R B £ 88 PR T HE 1673 T BT R B E £ 885
EHIT=TH 18 % TR BT R UL E89 5 T ST TR 1673 i TR BT A UL E89 5
SBIT=TH 19711 W FHTR 167%:H1 204 X 1
S<BIT=TH 1972 TR R 1675 204 X 2/ 1
SKHIT=TH 197113 VR FHTR 167%:H 204 [X 3/
S<BIT=TH 19% 4 TR R 1675 204 XAy
SBHETIYT B 17 TR FHE 2267 1 3 X 1 [ i
S<HETE T H 2% EHHEN R ER AL 115 | R 2261 AR REEL - 115
SKBHTIY T H 27 TE IR AERET1 125 | IEETHE 2267 H HE BT RE A1 — 125
S<HETET H 2% HHEN R E Y1135 | R 2261 TR B 1 - 13%
SBHTIY T H 27 TEFNEERERAETEL - 145 | ERTHE 226 TR R 1 — 145
S<HATIE T H 2% H M R E R 1 - 155 | EETEE 226%H1 TR BT R B — 15%
SBHTIY T H 27 TEFNEERERETE2-115 | ERTHE 226 TR R 2 — 11
EBETTH 2% HE RS 2 — 125 | H 2267 H TR B I R B E2 — 125
S<BATIET H 2% TR R HEE2 - 135 | HE 2267 Hh BB R B2 — 135
EBETTH 2% HE BT B2 — 145 | HE 2267 H TR I R 2 — 145
SBHTIYT H 27 TEFNEERERAETE2—-15% | ERTHWE 226 T AT R B2 —15%
EBETHTH 2% HE RS B2 —16% | HE 2267 H T I R B E2 — 165
SBHETIY T H 27 TEFNEERERETE2-175 | ERTHE 226 TR R 2 — 17
SLHITIY T H 2% TS A3 —115 [ EE 2767 H T HE I R S — 115
SHETITH 2% TR REREE3— 125 |l THE 2767 Hh T BT R 3 — 125
KBTI T B 27 1 TR RT3 —13% | ERSFEE 276%H TR BT R B L3 —13%
SBETMT A 2% TR REREE3— 145 | THE 2767 Hh T BT R B3 — 145
SLHITIY T H 2% ME N B REES - 155 [T 2767 H T FE I R 3 — 155
SBHETIY T H 3% M1 W8 3457 H11
KBTI T B 3% H12 B 0 3447 H
KBETET A 3T M3 Tz 75 34471
KBTI T B 3% 14 T A 34371
SBHETIY T H 3% M5 W T8 3427 M1
S<BATIT H 3% 16 TR TR 341%Hh1
SBHETIY T H 3F M7 W S8R 34172
S<BATIT H 3E M8 T TR 342%: 2
SBHETIY T H 3% MO W S8R 3437
S<BATIT H 3%&M10 T TR 341%H3
EBETTH 5% B B R B W SR 21973 B BT R B
SBETITH 5% Hh T BT R 25 W TR 219%#3 MR EE2 5
SBETTH 5% TR BT R B E B35 T ST TR 219%M3  [HHEHENREREES S
SBETMTH 5% Hh T BT U 4 VT HA 219%M3  [HE RO E4 5
SBETTH 5% TR BT R B EE5 5 T ST TR 219%M3  [HEFIEN R EREES
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SBHETTH 5% TR BT R B EE6 5 T ST R 219%M3  [HHEFIENREREE6 S
SKBHTIY T H S5 TR BT R B 75 PR T HE 2817 H TR BT R B 75
SBETTH 5% TR BT R B E T8 5 T ST TR 28175 Hh TR BT A UL E8 5
SKBHTIYT H 57t R BT R AT 95 TR FHE 2817 Hh R AT ORI FA T 95
KBTI T B 57 Hh EOHTER RAE FE 105 TR R 2817 HHTE R R B 105
SKBHTIYT H 57k e BT R AT 115 TR FHE 2817 Hh TR AR ORE AT 115
KBTI T B 57 Hh EOHTER RAE 125 TR R 2817 HOHTE R R F 125
SBHTIYT H 57k TR BT R FAE 1375 TR FHE 219%H13 R BT R M £ 137
KBTI T B 57 EOHTER RAE FE 145 TR R 219% 3 HOHTE R R 145
SKBHTIY T H 57k R BT R B 157 TR FHE 2817 Hh TR BT ORI M 157
KBTI T B 57 EOHTER RAE FE 165 TR R 2817 HOHTE R R FE 165
S<HETIT H S BT R B 175 W T 2817 T E BT R B 175
SLHITIY T H 5% i T8 BT A B £ 185 PP TR 219%#3 | PSR E 185
S<BATIET H 5 BT R B 195 W T 2197113 TR BT R B L 195
S<HATIE T H 5 BT R B2 20 TR TR 21973 B T R L2 20
S<HETIT H S BT R B 215 W T 2197113 BB R B 215
S<HATIE T H 5 BT R B e 22 TR TR 21973 BT R B 22
S<BATIET H 5% TR BT R B L 235 W T 2197113 TR BT R B L 235
S<HATIE T H 5 BT R B e 24 TR 21973 B T R B 24
S<BATIET H 5% TR BT R B L 255 W T 2197113 TR BT R B L 255
SLHITIY T H 5% Hh T T e R B E 265 PP FHA 219%M#3 | HEEORE 26 5
SHETITH 5% TR B R B E 27 5 W ST 219%M3 [P B E27 5
SLHITIY T H 5% Hh T8 BT I R B E 28 5 PP FHA 28175 Hh T8 T I R B £ 28 5
S<HETT H S BT R B 295 WA 281%Hh B BT R £ 295
SLHITIY T H 5% Hh T8 T I R B E 305 PP H A 2817 Hh T8 T I A B E 305
SBETMT A 5% TR B R R EE31 5 P ST 28174 TR BT U U EE31 5
SLHITIY T H 5% Hh T8 T e R B E 325 PP H A 2817 Hh T8 T e R B E 325
SKBATIYT B 57k TR BT I RS L £33 75 Tz 75 2817k TE BT R B335
SLHITIY T H 5% Hh T BT e R B E 345 PP HA 28175 Hh T BT R B 345
S<HHETPII T H 67111 W T8 340%FH1 224E X 1 1 H

S<BATIT H 6% 12 TR TR 338%: 3 22487 (X 2/H

SKBHTE T H 131 W S8R 5971 23E X 1 Hi

SLBMITRT H 172 T TR 56& i1 231 X 2 H

SKBHTE T H 1313 W S8R 59 M1 231 X 3] Hi

SLBITRT H 174 T TR 59% 1 231 XA H

SKBHTE T H 135 W S8R 597 M1 231E X 5 Hi

SLBMITRT H 2711 T TR 59% 1 2448 X 1 E

SKBHTE T H 2F M2 W T8 597 Hi1 244E X 27 1

SLHATHT H 2% 3 VR TFHTR 591 2448 [X 3/

SKBHTE T H 2% M4 W T8 597 i1 244E X 47 1k
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SKBHTE T H 2% M5 W T80 597 i1 244E X 5T 1
SLHATHT H 3% M1 VR TFHTR 92% Hh 2545 X 1
SKBHTE T H 3F M2 W T8 92% il 251E X 270 1
SHETHT H 3% M3 W FHTR 927 Hh 254 [X 3/
KBITHTH 3% M4 TEWTFHE 927 M 2575 X AT Hiy
SHETHT H 3% M5 VR FHTR 92% Hh 2547 X 5
KBITHTH 3% M6 TEWTFHE 927 i 2575 X 6T i
SLHATHT H 5% M1 VR FHTR 92% Hh 264 X 1 H
SKBHTE T H 5% M2 TR R 927 Hh 261E X 270 1
SLHETHT H 5% 3 VR FHTR 927 Hh 264 [X 3/
KBITHTH 5% 4 TEWTFHE 917 H1 2675 X AT Hi
S<HITHT H 515 W T 1797 Hh 28E X 1 18]
SKBITHTH 57 16 TR R 1797 28E X 28]
SKBETHTH 5FHT TEWTFHTE 9171 264 X 51 H
S<HITRET H 5% 8 TR TR 927 Hl 2645 X 6HH
S<BITHT H 5719 W T 923 1 265 X7 ]
S<BITET H 6% 1 JIURILA21015 TR TR 1758111 7RI A2101%
SKBITHT B 6% i1 TIURILA21025 W T 17551 TRV 21025
SL<BITET H 6% 1 JIURILA21035 TR 175811 7RI A2103%
SKBITHT H 6% i1 TIURYL (22015 W T 17571 TRV 22015
SLBAITRT H 61 IR A202%5 B BT 17581 JIURILA2202%
S<HITHT H 67511 7R A2203%5 WA 17531 7R A2203%
SKBITHTH 62 R A 17673
S<HITHT H 675113 WA 17772
KBITHTH 654 R A 1782
S<HITHT H 67515 W8 178% i1
SL<BITET H 6% 16 B 0 177%& i1
S<HITHT H 6757 WA 17272
SLBITRT H TEH T A 213%:H2 297 X 1 H Y
SKBHTE T H THE M2 W T8 213%H12 2975 X 2] Hi
KBITHTH T3 TR TR 28571 2975 X 318 H
SKBHTE T H 74 W S8R 2853 2915 X 4 ] H
SKBITHTH TS TR TR 2857 2975 X 58
SKBHTE T H 76 W S8R 2853 2915 X 6 ] H
SLBITRT H TEMT T TR 213%:Hh2 297 (X 71H
SKBHTE T H 7THEMS W S8R 213%H12 2915 X 8 Hi
SLBMITRT H 8&: M1 T TR 213%:H2 SO X 1 E
SKBHTE T H 87 Hh2 W T8 213712 BOE X 27 1t
SLHATHT H 8% M3 VR TFHTR 2137 2 3O X 3
SKBHTE T H 87 Hhd W T8 213712 BOTE X 47 it
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SKBHTE T H 107 H11 W T80 285% i S1AE X 1 i
SLBITRT H 10%H12 VR TFHTR 285% S X 2/
SKBHTE T H 10713 W T8 285% i S1AE X 3
SHETHT H 107114 W FHTR 285% 31X A Hh
S<HITET H 10215 TR R 285% i 31 X5
SHETHT H 1171 VR FHTR 285% B2 X 1
S<HITET H 112 TR R 285% i 324 X 2
SLHATHT H 1174113 VR FHTR 285% 3247 [X 3
S<HITET H 1134 TR R 285% i 324 XAy
SLHETHT H 11715 VR FHTR 285% 324 X 5
S<HITET H 11116 TR R 285% i 3245 X6y
SKBITET B 12711 W T 323712 SAAE X1 18]
BT T H 12%H2 TR 32372 SAHE X 2/ Y
SKBITHT B 127113 W T 323712 SAAE X 3]
S<HITRET H 12%H4 TR TR 32372 SAHE XA HY
SKBITHT H 13711 W T 323712 S X 1 1]
S<BITET H 14%&H1 TR TR 32372 35X 1Y
SKBITHT B 147 #12 W T 323712 S5 X 2]
SL<BITET H 14%H3 TR 32372 35 X 3
S<BITHT H 1474 W T 324% S5 X 4]
SLBAITRT H 14%&H5 R A 324 % Hh 35 X5
KBITHTH 1476 e 75 323%F 2 357X 6 1
SLBITRT H 14%&H#7 R A 32372 354 X 7Y
KBITHT A 1478 e 75 323%F 2 357X S I i
SL<BITET H 14%&H9 R A 32372 354 X9 Y
SKBITHT B 147 #1110 W8 323% M2 3575 X 10
SL<BITET H 14%H11 B 0 32372 35HFX 11
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